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1
= of a number exceeds % of

the same
number by 10. T

¢ number js-
(A) 25 (B) 150
(C) 175 (D) 200

The smalleg Positive integer when

multiplied by 392, the product is a perfect
Square, js |
(A) 6 (B) 5

(C)3 (2

The leay Number w|

4.6.8,12anq 14
1IN each case 15:

(A) 46 (B) 48
(9 50 (D) 56

On selling an artic)e for Rs. 105 4 trader
loses 9%, T gain 30% he should sell the

tich when divided by
leaves a remainder of 2

article mp
(A)Rs. 125 (B) Rs. 1449
(C) Rs. 150 (D) Rs. 139

What is the difference
interest on Rs, 5000 fo
annum the interes
and h:llf~}'e:|rlj,'?
(A)YRs. 204 (B)Rs. 3.06

(C) Rs. .30 (D) Rs. 4.80

Four years ago. the rtio of the ageol A
and B was 2:3 and after four yeurs it will
become 5:7. Find their present age,

(A) 36 years and 40 years

(B) 32 years and 48 yeurs

(C} 40 vears and $6 years

(D) 36 years and 52 yeurs

between compound
r 13 years ar 44,
Lis compounded Yearly

S men can do a picce of work in 6 days
while 10 women can o 1tin 5 days. In
how many days can 5 women und 3 men
do it?

{A) 4 days (B} 5 days

(C) 6 days (D) 8 days

A train 100m long is running at the speed
ol 30 km / hr. The time (in second) in
which it passes a man standing near the
ratlway line is:
(A) 10 sec

(C) 12sec

{B) 11 sec
(D) 15 sec

(C) 175 — g;ql;t[;}%? My
= i - ;

gw el W e UF 7 ﬁﬁf’-l‘;?

(A)6 (B)5

()3 (D)2

weA T8 R 4.6, 8 1 g
fﬂnmeﬁqqmﬂﬂfﬂﬁz?}wﬂ?m

134
(A) 46 (B)48

qqsmﬂﬁﬂ?ﬁ]ﬂﬂﬂﬁ 105 UL & gy
2ot 99 ¢% @ gy af 2 0% A
El?ﬂﬂﬁ]?-f(’ﬂﬁﬂ?ﬁﬂﬂﬁfﬂﬂfhﬂﬁ?ﬂﬂ
Tiige?

(A)% 126 (B) % |44

(C) & 150 (D)= 139

afe e affe armr ad offs Ei o) o
Bl T, 5000 # N qv 49 afts 2 & 11

o # wamgfy ens w1 sew T g

(A) & 2.04 (B) % 3.06

(C)%. B.30 (D) % 4.80

AR A T A N B 7 a1 9 arpm 2
:ﬂnaﬁ?ﬂﬂﬂmiﬁ:ms:?a‘rmﬁ.
T T W g e sy

(A) 38 T 3 40 ww

(B) 32 wet 3 28 71w

(C) 40 7= 317 s 77y

(D) 38 Wt afe 52 7

S UM b W a8 R ) aw wwd &
WAL 10 W T w3y o5 fe q w3

Tl &1 5 wheard s 3 gEm ol am W
= fa=it & Y T2

(A) 4 R (B) s f
(C) s fam (D) 8 s

100 A Tl Yomrd g fFl. s wer 91 wim
ﬂﬂﬂrﬂilﬁaﬁ#:ﬁﬁmauaw

B UR TR A W owm g A)
e o

(A) 10 Wz

(B) 1 fipes
(C) 12 Azoz

{D) 15 FApvg
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[4,

15,

l6.

17.

10,

12,

13,

i =
1€ Ovese. S . _-___-_-_-‘-""'—'—-———.___
: Werage monthly income of A and B

% Awng T st miftr

:I!:"ul:"'. l.‘””.}“..lh.*l! of B and C is Rs. 15600

o Vand C js Rg. 14400, The monthly
COme gf Cis:

(A) Rs 16000 (B) Rs 15000

(C) Ry 14000 (D) Rs 15500

;F"-‘ I_Wlb'hl of a coniey) tank is 60 ¢m ang
;j- U[ulT_Iercr O its base is 64em. The cosy
YL painting from outside g the rate of

:g} Rs 5:?.[11] Approx(B) Rs 39,20 approx
) Ry 3J.Ellupprt1x{51 Rs 23.94 approg

In Which district of 4 _
Ay i 1 LT
plant logyreqo Yanu is the urey
(A) Hisar (B) <
) Sirsy
(C) Rohtak s

(D) Panipy
f‘::j;jl:;}?mnncclﬁ which two cities of
(A) Rohtak-Kamnul
(B) Ruhtuk-hmhﬂlu
(C) lh:rhl:nk-l‘;mipul
(D) Rohtak-Faridahag
Nﬂ!‘!:ll‘ ‘s‘f’ildlifc Sanctuary is locateq in
which district of Haryang?

(A) Rewari (B) Mahendragarh
(C) Palwa) (D) Mewaqt

Who wiy the first Govermor of | laryana
state?

(A) Dharma Vira

(B) Dhanik Iy Mandal

(C) R.8. Nurula

(D) BN Chakravarthy

Ason 202 1. The Place of } larvana in
India in 1erms of arey is?

(A) 19th {B) 20th
(C) 21st (D) 23rd
Which famous folk dance of Haryana is
performed by both Men & Women?
(A) Tij Dance (B} Loor Dance
(C) Khodia Dance (D) Phag Dance
Who designed the High Court building

of Chandigarh?

(A) Edwin Lutyens

(B) Le Corbusier

(C) Laurie Baker

(D) Both (A) and (B)

10.

I,

[,

17.

A F 14000
f'"ﬂ C & sty MAE amn % 15600 v C

(B)% 15000

- (D)% 15500
TRy R e T qur T
-34;141? R O P Bl W fnte g
:1;' aswﬁﬁﬂ.’aﬂmﬂ?ﬁmaﬂ STl
(A} smnr & 5200 (B)@mim % asz0

(C) w5 3520 (D) &P & 2304

TR T wftar @ f ford 2 frer &7
(A) feim (B) Rwen
(C) v (D) aritgm

;Tr;m-.nqmmvniﬁ F=1 21 et & wiree
(A) UetTm—greare

(B) METH—~ apamen

(C) reerai— s

(D) TecrH e

AT TS anmnry gftamon @ o forel
W frerg 22

(A) Tars (B) Mg
(C) ueael (D) e

R R e S
(A) 0 firey

(B) uft® @ vag

(CruRTH TEn

(D) Fv=1 g

2021 & &=l @ gfle § wwa o gfm
GG e o B

(A) 191 (B) zoar

(C) 21 (D) 23

ENATT @7 W W owfre d Toa e afte
nfeenan A grr R o @2

(A) R s (BY q® T

(C) Tifeem Jem (D) #m pea

adlTE & Fed AR e an fauree
fEe fam fran =

(A) QEﬁF! r:[}fhl'ﬂ

(B) & wi{RrR

(C) &fd T

(D) T (A) 37 (B)
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18.

24,

25.

Haryana is divided into how many 18.
divisions? (A)4 (B)6 SO
(A)4 (B) 6 (C) 8 (D) 10
(C)8 (D) 10
Tomb of Tbrahim Suri is situated in? 19, zafey @ @ waa @ Rem @7
(A) Narnaul (1) Bhiwani (A) =TTt (B) frari
(C) Rewari (D) Yamunanagar (C) ¥ (D)THTTR
Deer Park is situated in which of the 20. ot g sfearm @ Freferfe@ & 9 R
following place of Harvana? e e frerm &7
(A) Meham {B) Safidon (A) TER (B) 718
(C) Kalanor (D) Kharkhoda (C) TN (D) @
In the following questions, select the 21, Fyde - i fe v Reen 4 @ wafa e
related word from the given alternatives. 516 e a
Touch : Feel : ; Greel : 7 L WERE & yfEr o ?
(A)Smile (B) Acknowledge (A) T (B) @R #
{C%.Sucn:ss {D) Manners (C) ¥Feen (D) AreTer
R_ﬂjl'-' is the brother of Atul. Sonia is the 22, Wl AR @ oy 2, afan Eie @ oaen
sister of Sunil. Atul is the son of Sonia. 2, agqa Wifim @ g= & a7 92 amgv
How is Rajiv related 10 Sonia? wrofty w1 WA @ @ g @9
(A) Nephew {B) Son (A) i (B)d4a
(CE Brother (D) Father (C)é (D) E}m
[f " — " stands for divisions " + " stands 23, afd'-' w1 aret & wpr 4 @7 ae! & wern
for sll.lhiructinn* "= " sands for ‘o et & ‘:.I;'?,lﬂ af & Sirse ﬁ;f
multiplication, " x " stands for addition, [ERTIT L f JNT S p——
then which one of the following equations i
15 correct?
(A)70 -2 +4+5x6=44 {:\]?05—2;4){-5*‘6=44}
(B)70=-24+4+5%p =21 (B)70 =244 +5x6=21
(C)70—2+4+5 x6 = 34] (€)70—2+4 +5x 6 =341
D)70—2+4+5%6=136 (D)70-2+4+5x6=36
In the following question, select the one 24, Fefafaa 5 @1 vana @ o1 9 @ afeu
which is different from other three S AmE @ s d g (qu)d wafoa
alternatives. TEl B -
(A)40 -5 (B) 60 — 12 (A)40 -5 (B)60—12 ¢
(C)32 -4 (D)8 —-11 (Cy32—4 (D)BB—-11
A man starts [rom his office and goes 5 25, T amedt 3 wmi@a @ wen iR s
km cast. Then, he wurns 1o the left and [frerier of @ sl wm fr oaw A g
again walks for 3 km. Again he turns left AR 3 fearfier oo R s S and A
and walks 5 km. At what distance is he e 5 fFemfer wan) ae wnfe g
from the starting point? foet 7y 27
(A) 3 km (B) 4 km (A) 3 faiL (B) 4 f=f,
(C) 6 km (D) 7 km (C) s fam). (Dy 7 R
Find the missing number, 26. P& At 8 g wiEn s i
33,28,24,7,19,18 33,28,24,7,19,18
(A) 21 (B)22 (A) 21 (B) 22
(C) 20 (D) 23 (C) 20 (D) 23
HaryanaJpbs.in
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D EDRTT o N uls

29,

30.

31

27. II"LIBERﬂl.IEﬁTmN‘ﬁERATIDN*HH

28.

i5 Cﬂd.:d ns

3425613498470, then *

be coded as: (B) 1518647
(A) 15168470 (D) 51618471
{C) 15618470

: iven
In this question two slatements are £

Jusions | and 11.
’ wo conclusions
followed byt « statements (o be

You have 1o consider th B
true even if they seem 10 be at x.:rm; e

lrom commuonly known facls. You ‘1.1 L.I.l:l-
decide which of the given conclusion, if
any, follows from the given slatement.

Statements

1. Some birds are clouds

[I. Horse 15 a bird

Conclusions

L. Some clouds are birds

[1. Horse is not n cloud

{A) Conclusions [ follows

(B) Conclusion 1l follows

(C) Either conclusion 1 or I1 follows
(D) Neither conclusion I nor 11 follows.

In a row of boys, Srinath is 7" from the
left and Venkat is 12™ from the right. If

they interchange their positions, Srinath
becomes 22* from the left. How many
bays are there in the row?

(A) 19 - (B) 31

(C) 33 (D) 34

Find the missing number from the given
responses in each of the following
question.

(A) 223 (B) 224

(C) 225 (D) 227

In the following questions, select the

related word from the given alternalives.
Hour : Second : : Tertiary : ?

(A) Ordinary (B) Secondary

(C) Primary (D) Intermediary

27,

28.

30.

TRLIBERALIZATION® @ v @ s 3
:‘-;1561349134?0 fean e, ot 9w @ s A
RATION' 7 fry WFR ﬁ‘-mnhm?rr?

(A) 15168470 (B) 1518647 |

[Ci 15618470 (D) 5161847]

ﬁt:r?ﬁ?ﬁ WS U A @ qamad @ w2

il &i*r_-rll f-:r:nqharnrmﬁm

T aﬁﬁmlﬁ‘ﬁﬁﬂaﬂfﬂ G )

i Trﬂmmimaﬁlmmﬁﬁﬁ&w
Fremat & 4 -, aft @ @, e m

Gl 8

waﬁﬁﬁq—ng
qERTay
IO 0 e 2
HiE1 gy
[ o g g 8
I1. mm"ﬁ:ﬁ?l
{ﬂ}ﬁﬁr‘-&]ﬁmmg,

(B) Pyt 11 Praerer 2
(C) Bzt 1 aopm 1fvareren ¢
lDH'r;n Frad 1 ot =0 @ Fmed 11 Proveen

i
29, H‘Eﬂﬁ?ﬂqrmﬁfaﬂfte—ir:mxmﬁﬂﬁﬁm‘i%

T dwe W @ gwed) afz 3 A e
950 A, W fem @228 T W A S
&1 ufd i we R e @
(A) 19 (B) 31
(C)33 (D) 34

Frafafian sos wet § for o Resi 4 A
< W@ s Ffar

N
n)

(A) 223 (B) 224
(C) 225 (D) 227
31, o fie Ry 1o feed 4 @ wife v
gl anforg |
uer o UFE - ﬂ_‘:ﬂ?Fﬁ: ?
(A) AR (B) s
(C) s (D) #ezad

TO1/SET-A

Scanned with CamScanner




__-____‘_-—___
32.

33,

34.

(A) 121 - 196

A8

36.

37.

Gopal said, pointing to Govind *His

father is my father's only son™. How g
Gopal related to Govind?

(A) Grandfather  (B) Grandson

(C) Son (D) Father

If - stands for =, + stands for X, + stands
for - and x stands for + find out which
one is correct.
(A)4Ix7+3+5-8=16
(B)49+7%x3+5-8=26
(C)49+7-3x5+8=20
(D)49 -7 +3+5x8 =24

In the following question, select the one
which is different from other three
alternatives.

(B) 144 — 225

(C) 36 - 83 (D)16 — 49
Mohan travelled westward 5 km, turned
left and travelled 3 km, turned right and
travelled 9 km. He then travelled north 3

km. How far he is from the starting point?

(A)S km {B) 3 km

(C) 6 km (D) 14 km

Find the missing number.
1,1,6,6,11,11,16,7,7

(A) 13,11 (B) 16, 21

(Cy 17,21 (D) 21, 16

[f police is called teacher. Teacher is

politician, politician is doctor, doctor is

lawyer and lawyer is surgeon, then who

will catch eriminals? (A) Mer (B) Sigey
(A) Teacher (B) Doctor (C) gfem (D) T
(C) Police (D) Lawyer
! 701/SET-A

32, Mm@ A M ® MR TN oavy gy

33

34.

35,

36.

37.

Fergwa fom N PO @1 gwEm gw g
Turer @ Mg T 9 HIH @27
(A) wTaT (B) dra
(C) ga (D) frn

afy' e’ @ fae @'+ g %'s R
frg’- & fav s %' R '+ 2 fau &, &
fPr=forfara 0 @ F9-w1 0 W B2
(A)49x7+3+5-8=16

(B)49 +7x3+5—-8=26
(C)49+7—-3x5+8=20

(D)49 -7 4+3+-5x8= 24

h qnﬂjﬂ_‘)_g'ln
Frafafem & @ wemst & 99 @ = Ry
W W T @ sE A R (qOR weRa

T @
(A) 121 — 196 (B) 144 — 225
(C) 36 — 83 (D) 16 — 49

HES 3 qi¥an &1 sl s frenies &) o
&), v e 3 a9 uen @,
aftr wrli MR R o RrErer o e @
a8 fie I @ a3 feetfen wm aw
AR 3 @ feeh g3 @7
(A)s fasf (B) 3 fFa @
(C) e fait (D) 14 fFh

(=4
=

Pt At & g wEm s @
1,1,6,6,11,11, 16,7,?

(AY13, 11 (B) 16, 21

(C) 17, 21 (D) 21. 16

e g F e @E o e W
WeEfe, aeifan @ I, Faer T
TN e T @ owelq = oome o
IR B N qeEda?
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41.

42,

43.

[ ——

38.

39,

40.

- ——
iven followed by bwo
havi 1o consider

Two statements are g

conclusions | gnd 1. You Tk
the two statements 1o be true €4 )

seem Lo be at varlance from cnmmn:}]}'
known facts. You have 1o decidt “.'m.‘:h
one of the given conclusions 15 deflinitely
drawn [rom the given stalements.
Statements

Some [ndians are educated
Educated men prefer small families
Caonelusions

(1) All small families are educated.

(11) Some Indians prefer small families.
(A) Only I follows

(B) Only IT follows

(C) Bath | and 1 lollow

{D) Neither [ nor I1 follows

In a row of 16 boys, when Prakash was
shifted by two pluces towards the left, he
became 7" from the lelt end. What was
his earlicr position from the right end of
the row?

{J"h]?"' I‘.Blﬂlh

(C)oh (D) 10

Find the missing number from the given
responscs in each of the following
question,

125

(A) 127 (B) 31
(C) 216 (D) 328
Which daughter of Haryana has made a
national record for making 3 mm boar?
(A) Ankita Desai (B) Kavita Sharma
(C) Urjit Gopinath (D) Sakshi Garg

How many Haryana Police personnel
have been awarded the Union Home
Minister Medal in January 20207
(A)5 (B)2

()7 (D) Y

Which department has launched the
Integrated Health Information Platform
Portal in Haryana?

(A) Finance Departiment

(B) Central Mental Department

(C) NITI Aayog

(D) Health department

3R.

40.

41,

A awm @ amt w) fed | s 11 Ry g
Bl M e s gent § afr @9 oft
ST Twran @ wen wwd amw o qn @ [

=

B

T ;
S Wit (g 21
ferfem E'Jh" B2 Ui gwm g 2

:iTrt’iT U1 ftaw farf &

- B MIEHT wR afare o) qwe e
(A) T fymmd | ey 2 il
(B) #ad fan [
(C) Femf [ arermr 1.
(D) Py | aq
16 T2

gﬂr’n w1 I g (Frmwmmfrm

R W TE O Rafy (awfn ) @ e
(A) rai
{C) om

Frafafera seaw west & Ry mo e 4 9
4 N s ity

Haryar@bs.in

42,

m rﬁm.jﬁ AW we—w Mfeg w1 A
TR # R fym o @

r‘T'hT‘ﬁ” |
O e 2
1 P (1 Frart 2

T wE fEE § we owwm @ A

TE WY R RN wwma @ o wida @
(B) N
(D) 1057

(A) 127 (B) 31
(C) 216 (D) 328

gRaren @ frn 3 4 3 taem & W T
w1 iy Rard a7

(A) aifismn 2 (B) wfaar wm

(Cy sffa mérm (D) mef o

gRar gfera @ fees S @ SeEd 2020
i ddm e A uew d el R o
87

{A)S (B)2

(Y7 ()9

g N fTee g gwhem wewin
gidd fFa Ry & g ampn fvan mm @ 2
(A) faa fom

(B) @t wiins R

(C) Ry amam

(D) e fn
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44.

45.

46.

47.

48.

49,

How many hours has been increased in
the power supply provided to the farmers
in Haryana in year 20217

(A) 3 hours (B) 2 hours

(C) 4 hours (D) 5 hours

In which district did Haryana's Women
and Child Development Minister Kamlesh
Dhanda inaugurate the One Stop Center
Sakhi in year 20197

(A) Kamal (B) Kaithal

(C) Ambala (D) Panipat

In which district did the Governor of
Haryana hoisted the flag on the occasion
of Republic Day 20207

{A) Hisar (B} Karnal

(C) Ambala (D) Gurugram

Which player from Haryana has become
the 22%h ODI player of India?

{A) Aman Malik

(B) Kuldeep Chahar

(C) Yuzvendra Chahal

(D) Navdeep Saini

Which  Haryanvi player has been
conferred the Sports Person of the Year
2019 award by FICCI?

{A) Savita Poonia (B) Deepti Rani
(C) Kamlesh Kumari (D) Rani Rampal

Which scheme has been launched by
Haryana to keep a watch on illegal
mining?

(A) Jan Jagran Yojana

(B) e-Ravana Yojana

(C) e-monitoring scheme

(D) tracking scheme

46.

47.

48.

49,

44,

45,

I 2021 # gRawW A [FAET B & Iy o
e wied 31 v w8 90 9fy @ w8

(A) 3 we (B) 2 g2

(C) 4 w2 (D) 5 W

¥ 2019 3 gRar @ ke @ w1 Remw
W= e ersr A R e 3 Cta w2 i
Hiew wdll” & ggreq fFae

(A) TETA (B) @

(C) armaren (D) urilua

TorEE fRaw 2020 # MR W OERATM @
wromare A fr ford 7 wer e 917

(A) R (B) =t

(C) araen (D) Teum .
g @ w W faend e @ 229 @
verfemia faemd an 272

{A) a1 wfer

(B) merdly =y

(C) aepi wed

(D) g 30

e gfRamedl ferardt & CFICCI” & *wddw
THA M T §a 2010" RO u=E flm @7

(A) aferen gfrar (B) €1fir N

(C) Tweie aml) (D) T+t Ty

a3 sy @A W P @ @ fan
FA-3M I A W R

(A) ST SO Graren

(B) —3arn wran

(C) $-Frmrft aren

(D) Trad= dra

50. In which city of Haryana was the 68th All | 50, ‘es & amer gfea gfer Yafem” wivafer @
India Police Wrestling Competition e wRan & fF wew 0 fFm T
organized? (A) Yo (B) Tetaa
(A) Surajkund (B} Palwal (C) ==tz (D) Teum
(C) Gharaunda (D) Gurugram

51. Which of the following is not a member | 51, Prafafem 4 @ o fRafm O s =
of the vitamin B complex? e A6l 2?

(A) Thiamine (B} Riboflavin (A) urafim (B) wsamafm
(C) Folic acid (D) Ascorbic acid (C)wiforw ofie (D) waifte vftrs

52. Which blood vessels have the smallest 52, R o aifgeal an @ra w9 wier @ &7
diameter? (A) BfrE (B) enril
(A) Capillaries (B) Arterioles (C) ey (D) aifea
(C) Venules (D) Lymphatic
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3 Wh |53 frefafim s & d-am 1

| 53 Which of the following is an air-borme

r 7| ,JT.:""':' '.I‘;T .l- |

1

disgase?

i ] e~ PTETRT RS
el (B Typhoid (A) e (Hefemzs o
II :;:;1::“{:\ (D None of the above (C) meard ey ([n TwRE 7 W Fig AE |
= ':- : 1 N 4 " L
ﬁ_] 1'~'t1l ..h i th': Ili.\”l“" tng Illll"lrn'll"”r.“l 1= 4 54 'I‘.Tr._'ll:"_:,—!rlr I ol ?'."_I"{ 2 ;-‘-”'1_ g
- s b
o R PR I FTIT-

| sierond ! (A) T (B 13 |

| LA Estrivgen

i B Glucagon (C) S ([ wPsrerseT
| (O Insulin ’

i Otodan

| 55, Anelectron possesses a negative charge 55, UF 3t 37 somaT snam e @ |
| of; i {A) 18 x50 31 (B)1en x 1p v 51 |
| (A lax I0MC (B) 1.60x10 " C (Chae x 0 v it (I 18 % 1w @

Cr 2 =0 C iy L= 0™ e
36, How many electrons taken together make | §6 fred 2 m0m fa s U ETAIG e A7

ine coulomhb? (A} 625 x 10" FetarTa
(AY625 % 10" electrons (B) 325 x o gt
() 325 % 107" glectrons (C) 225 % 10 goraeta |
() 2,25 w10 electrons (D) 225 % 137 TTHT
(D) 425 % 10" glectrons

57. One ohm is equal to: 57. Um s aaaw ene @

| (A | volt / lampere (AY 1T s oafe
(B) I volt/ | coulomb (B} 1st= yavasg
(Cr I volix | mpers (Ch 13 x 1y |
(D) 1 volt x | coulomb (D) 1352 % 12T

58. In which form the chemical compound 58. s e RDN & TnE faw E=n oA

} RDX is used? ¥ @ &7
A Asan composilion (AVTE O F =y 0
(B) As an reactor (B)uw fivge & wv 4
(C) As an explosive {CoF MEres & =0 i
(D) As an nuclear weapon (D) T Ty v @ en A

59, Bio-chemical compounds are used as.... 39, WI-IrEmtre ey g oamn Py w8
{A) Skin Treatments famn Srmm &
(B) Food preservatives (A) &I ITan
(C) Cooking Qils (BT w3sm
(D) All of the ahove (C) T w13 &

(D) waam il
60. Which of the following indicator used in 60. TEEE @ Maber 0 Pedatm i @ e

determination of hardness? 1 I (o
(A)EBT (B) Phenolphthalein (A g5 (B) #iewifas
(C) Methyl orange (D) Thymol blues (C) Frrgst s (D) wrga g
61. Who made the first electronic computer | 61. T AT dued ENIAC @1 frard
ENIAC? CRICHEC
(A) Van Neumann (A) a1 spHe
(B) Joseph M Jacquard (B) 9w, s, Taard,
(C) Jay Presper Ecken (C) & Wue vad
(D) Both (A) and (B) (D) 299 (A) 307 (B
62. Which of the following is the largestunit | 62, B 3t @ ata-w =g @ maa a9 EROE
of storage? #7
(A) GB ) (B)KB (A) it (B)iEd
(C) MB (D) TB (C)wsrdy (D) &
10 TOV/SET.A
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63. The program which is pe _ TR ¥ verrd @R W WA
in the ROM in the I‘urn]:\t',ur!l'T:'lﬂﬂlr:::iI:-,I-I:'r Slovest |63, m ! 2 . ?Fﬂ H ST T )
known as ........... 9 ol Emé T (B) WTEAW
(A) Hnrdwurr.- [B] Software {M R (D) ELCUES
(C) Firmware (D) Romware ©

64, - is the process of dividing a | 64 e @ g AR daeY # fhnfema
disk into tracks and seclors, e A wfem
(A) Tracking (B) Formalting (A) 2FET (B) whifen

" ﬁ»‘ffushmg (D) Allotting (C) FRIT (D) Teife

. at 1s the permanent memo #Fﬂﬁ E."ﬂ o] TEl
s o . ry built into | 65. ﬁ Fqev ¥ fAfifa EIE
(A) RAM (B) Floppy (A) ™ (B) vl
(C) CPU (D) ROM (C) wrdrg (D) ¥m

66. An image on a computer screen js made 66. W& TR WT W @ Bl B
up of a matrix of .................. ﬁﬁwﬂrﬁ"‘rﬂ?l
(A) Byte (B) Pixels (A) T2 (B) Rwdewd
(C) Bit (D) palette (©) faz (D) %o

67. What does dots per inch (DPI) measure? 67. (DPI) Sfew wfa g9 T wrgan &7
(A) Number of bits (A) e
(B) Density of pixels on a computer (B) mcq_?:? WA R fwd &1 v

screen (C) & w fagw @1 o1
(C) Density of bits on the disk (D) &R B W 9Ida TE wI5d @
(D) Density of the graphic file stored on e |

the hard disk

68. The most widely used type of database | 68. Serw #ivnie fiven @ WA @me &9 4
management system is: XA fvar T ergy &
{A) Flat Database (A) Te SEWH
(B) Network Database (B) ATas IEraw
(C) Relational Database (C) RAv=a sreEd
(D) Hierarchical Database (D) wETHa SEeEw

69. What do circles represent on a data flow | 69. STeT ¥ell IAUAT WX ASd T4 Wafia &
diagram? &7
(A) Data Source and Destination (A) =reT |9Rf R ReA=
(B) Data Flow (B) =TT el
(C) Transformation Process (C) g=wrier= wfkm
(D) Data Repository (D) srE 98

| 70. A server uses application [70. & T ... VHPwa wfvedm &
software to support the client computer. IYAT TG W & Wi 3 fxu e
(A) Back end (B) Front end &l
(C) Programming (D) Java (A) 4T T8 (B) e U=
(C) wrmfer (D) Frar

71. TG-37 A is a variely of following crop 71. T-37 ¢ =t ooa @ e et
(A) Groundnut  (B) Wheat (A) Freeh (B) g
(C) Pearl Millet (D) Maize (C) ud ara (D)

72. Arhar {pineon pr—‘a) is commonly known | 72. SR& (TR #eR) F 3R w
as . cesdbeiiigiigiain 4 | sereksseiviemsnues @ EU H AF A 2|
(A) Black gmm (B) Red gram (A) Trem == (B) @& =
(C) Bengal gram (D) Green gram (C) sm&a == (D) &0 ¥
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: - in m”nghcnn ':.'3‘ W & @ A W:rl il W.IT?. ...............
13, ;I;I::jtypc nl‘gcrmnn‘:!.t‘l:ﬁm“‘Im"“”‘ ‘{::} Rrofrel (B) grzwfhad
(A Epigeal (B Hyposeal (©) g (D) -
{C} ”}'j‘lu-l.'pigfﬂl tD] EF|‘h}PnEcﬂ
74, The soyhean have ... per cent 4. wiorda A, sferar Wrér Tt e 8
protein content (A) 20 (B) 30
(A) 20 (B) 30 (C) 40 (D 10
(C) 40 (D1
75. Groundnut seed normally contains 15, 5wt & e & e w9 L wferam
e p-ErCCl'l[ Prﬂtﬂln AN svemvvinevans, mﬂq .‘:I.f["{ e nmﬂﬁ ﬁa o AT g
per cent oil (A) 20 37 45 (B) 25 37 45
45
(A) 20 and 45 (B) 25 and (C) 30 3 & o ea
(C) 30 and 50 (D) 35 and SFJ } %0 (D)
76. Cotlon belongs to the.........: family 76. amrg .. qftar @ weka 2
(A) Compositeaec  (B) h’?"h‘um“c (A) sftmy (B) reah
(C) Cruciferae (D) Lincaccac (C) wird (D) fereh
77, Topping in tobacco MEANS.....ocveesenen, 77, w4 2ifin =1 wwerd .
{A) Removal of the buds in the axil of (A) TRt 1 o 3 el #1 g
. leaves N (B) ol & zern
(B) Removal of leaves _ (C) effa =i 31 e
(C) Removal of terminal buds (D) 5fet @1 wre
(D) Burning of leaves .
T8, *2,4 =D 0S8 .vrerreeinrressrnnnasressarisenn,s 8. 2 4 —F o N
(A) Weedicide (A) Srzemss
(B) Growth regulators (B) Tt e
(C) Growth retardants (C) TTy f;;_r-ll- Yoy
(D) Aand B (D) A ﬁEJ‘
79. The first irrigation in wheat is normally 79. M e frd wmen Te T o
recommended al........oooeeeenreiens I @ w2
(A) Tillering stage (A) 5ars T
(B) Crown root initiation stage (B) #1v=1 = < wm
(C) Flowering stage (C) g=17 3ren
(D) Seedling stage (D) ¥rFR =
80. RAJ. 3765 is a variety of following crop | 80. 3= 3765 fFr=ifafam woa & ve fro 2
(A) Maize (B) Wheat A (B
(C) Mustard (D) Gram (C) ¥ (D) ==
81. The place of origin of *Bhadavari’ buffalo | 81. ‘*wemd §u° &1 gl =m 2-
is- (A) 9aTTd (B) &Ramm
(A) Punjab (B) Haryana (C) o (D) T=R w27
(C) Gujarat (D) Unar Pradesh .
82. Among the following bovine animalsof | 82, wra & ‘mEd@ 3R’ § wakm fgamn
India, the best breed is T B
(A) Tharparkar (B) Amnt Mahal (A) ATGIHHT (B) 3rfasEd
(C) Hariana (D) Kankrej (C) efrzmm (D) FTFETA
83. The discase of scabies fever in animals is | §3. I3 7 #19dl g@nr @ a9 849 8-
caused by- (A) B gm (B) Sy g1
(A) by virus (B) by bacteria (C) wreTaisn gn
(C) by protozoa (D) by None of these (D) 57 91 5= @ off g A
12 JOVSET-A
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84, Hiwxv much anlhf: following grain-food is
given to a milch cow to protect its body?

(A 1-1.5 kg. (B) 2-2.5 kg.
(C)3-35kg (D) None of the above

85. jl‘lm age of the first call of a hybrid heifer
15=

(A) 20 to 24 months (B) 24 1o 30 months
(C) 36 10 40 months (D) None of the above

86. Which of the following is a foreign breed
of cow?
(A) Jersey (B) Ongole
{C) Gaolao (D) Kangayam

87. Which of the following is a breed of
‘heavy cow™?
(A) Kankrej (B) Devani
{C) khillari (D) Gir

88.  One quantity best basis for sorting
uniested young bulls is-
(A) Genealogy (B) Texture

(C) Shape {D) Breed
89. Which of the following is a milch breed of
cow?
(A) Mewati {(B) Sahiwal
(C) Mualwvi (D) Dangi

90. The mauximum percentage ol fat in the
milk of *“Bhadavari buffalo” is-
(A) 8.0% (B) 9.0%
(C) 11.0% (D) 13.0%

Direction (91-92) In these questions, some
sentences are given with blanks to be [illed
with an appropriate word (s). Four alternatives
are suggested for each question. Choose the
correct alternative one of the four

9]. Evenif two horses may look . they
may not be of the same age.
(A) comparable (B) alike
(C) enly same (D) None of these

92. We cannot go on strike every year. Now
that we have gone on strike we must
this issue,
{A) cross (B) clinch
(C) culminate (D) co-ordinate
Direction (93-94) In each of the following
questions, [ind the correctly spelt word.

03, (A) Reannaisance (D) Renaissance
(C) Rennaissance (D) Renaisance

13

84.

5.

86.

87.

88.

&89,

Y0.

TF qUTE MY N IS IR0 F e e

# 9 fran TEn-3mEr AU amm e?

(A) 1=15 fF.. (B)2-25 fn.m.
(C)a-315 . (D) SUdrw i a & 4§
TF waw afoe @ uem &t ey #d g-
(A)20 91 24 wE (B)24 & 30 e

(C)3s ¥ 40 E (D) Iudta § 9 & T

Pr 3 e et @) T @t &2

(A) Tt (B) HTTA

(C) Ml (D) FTTTars

e 8 9 = Cwward! AT # AR 27
(A) TIELA (B) 2=t

(C) faeemd (D) frz

IrafEm g Wi wien @ g A wahm
MR #- : - '

(A) Tymaeh (B) g=mae

(C) sty (D) =%

fr= & @ ata-=l 3w e o) g @2
(A) famh (B) wmétara

(C) wrerdh (D) =ih

reradl @ gy e w1 afdeo wfm
o §-

(A)s0% (B)9.0%

(C) 11.0% « (D) 13.0%

HaryanaJobs.]
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94. (A) Recommandation
(B) Recommendation
(C) Recomandation
(D) Recomendation

Direction (95-96) : In these questions. a
sentence has been given in Active/Passive
Voice. Out of the four suggested alternatives,
select the one which best expresses the same
sentence Passive/Active Voice.

95. They will demolish the entire block.
(A) The entire block is being demolished.
(B) The block may be demolished
entirely.
(C) The entire block will have to be
demolished by them
(D) The entire block will be demolished.

96. This surface feels smooth.
(A) This surface is felt smooth
(B) This surface is smooth when it is felt
(C) This surface when felt is smooth
(D) This surface is smooth as felt

Direction (97-98) Out of four alternatives,
choose the one which is similar to the meaning
of the given word.
07. FOSTERING

(A) Safeguarding  (B) Neglecting

(C) Ignoring (D) Nurturing
98. PROPEL

(A) Drive (B) Jetuson

(C) Burst {D) Acclimatize
99, Fill the blanks with the right pair of

words:

A mother has to.......... the pangs of

BiVINg...cccen. to her child.

(A) Bear, birth (B) Bare, berth
(C) Bare, birth (D) Bear, berth
100. Select the right modal for the blank:

Hﬂﬁldﬂ Fﬂzjﬂb'g’ AT

Walking on the beach, we.......... sight of
a strange bird.
(A) Catch (B) Catching
(C) Caught (D) Catched
14 701/SET-A
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